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Mark schemes are prepared by the Principal Examiner and considered, together with the
relevant questions, by a panel of subject teachers. This mark scheme includes any
amendments made at the standardisation meeting attended by all examiners and is the scheme
which was used by them in this examination. The standardisation meeting ensures that the
mark scheme covers the candidates’ responses to questions and that every examiner
understands and applies it in the same correct way. As preparation for the standardisation
meeting each examiner analyses a number of candidates’ scripts: alternative answers not
already covered by the mark scheme are discussed at the meeting and legislated for. If, after
this meeting, examiners encounter unusual answers which have not been discussed at the
meeting they are required to refer these to the Principal Examiner.

It must be stressed that a mark scheme is a working document, in many cases further
developed and expanded on the basis of candidates’ reactions to a particular paper.
Assumptions about future mark schemes on the basis of one year's document should be
avoided; whilst the guiding principles of assessment remain constant, details will change,
depending on the content of a particular examination paper.
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READING TESTS 2007

Notes on the Marking Scheme

Non-verbal Answers
Follow the mark scheme as set out.
Verbal Answers (English or Target Language)

1.

The basic principle of assessment is that candidates should gain credit for what they know,
understand and can do. The following guidance should be borne in mind when marking.

(a) Credit should be given for all answers which convey the key idea required intelligibly
and without ambiguity. This applies whether the answer is in English or in the target
language. A separate assessment of spelling, punctuation and grammar is not
required on these papers because of the nature of the answers. However, these
aspects are an integral part of assessing communication and marks cannot be
awarded where errors in spelling, punctuation or grammar lead to a failure to
communicate the required information without ambiguity.

(b) Where a candidate has given alternatives or additional information in answer, the
following criteria should be applied:

- if the alternative/addition does not contradict the key idea or make it
ambiguous, accept;

- if the alternative/addition contradicts the key idea or makes it ambiguous,
reject.

(c) Where numbered lines are given within a question/section of a question, credit
should be given for correct answers, no matter which line they appear on.

(d) Where a question has more than one section, a candidate may include as part of
the answer to one section the information required to answer another section. For
instance, the information required to answer section (b) might be given as part of the
answer to section (a). In such cases, credit should be given for having answered
section (b), provided that no incorrect answer has been given for that section in the
correct place.

(e) Where a question or part of a question carries more than one mark, candidates are
given credit for all the correct answers they give, even if they have given incorrect
answers as well, except where any of the latter contradicts a correct answer that they
have given.

..... /..... means that these are acceptable alternative answers. (.....) means that this

information is not needed for full marks.

In questions where candidates are asked to name, for example, three types of vegetable

sold in the market, only the first three items they write down should be considered.

Accept

- TIFI?

- Target language equivalent as instructed in rubric (eg. V/F/IPM or R/F/NT)

- v IXI?

- a mix and match approach using the above, where the response is clear and

unambiguous (eg. T and ¥ are both used by the candidate).

In multiple choice questions where candidates must choose one letter or number, they

should automatically get no mark awarded if they give more than one. If the rubric instructs

them to write one letter or number in the box and they do so, but write a second letter or
number outside the box too, then the answer in the box should be considered.

No mark scheme can cover all possible answers. When in doubt:

- look for the key idea, where this is appropriate.
- t.c. = tout court NFP = no further penalty
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Question Accept Mark Reject
1 B 1
2 C 1
3 B 1
4 A 1

5a) 1%t April (if 2 months put in, both must be correct) 1

b) nothing / free 1

6 A 1

7 D I F B H E 6
8 a) D
b) F
c) H

6
d) A
e) E
f) B

9a) teczka, wypadty G | 2

b) torebke, wybra¢ B H 2

c) kelner, glodna F E 2
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Question Accept Mark Reject
10 a) F
b) A
c) E 5
d) B
e) D
111) D niemiecki 1
ii) F niebieski 1
12 a) D
b) B
c) E °
d) H
e) F
13 a) drzewa/ troska o $srodowisko/ ochrona $rodowiska 1 lasy/ przyroda/
srodowisko
b) o debie Bartku (must be Bartek with dab or 1
drzewo)
c) bo ma ponad tysiac (1000) lat / bo jest bardzo 1
stary
bo jest najstarszym drzewem w Polsce
(any 1)
d) podstawili podporg pod gataz/ podparto gataz 1
e) kwasny deszcz 1 dymy z kominow,
spaliny z
samochodow
f) bo produkuje tlen, ktory jest konieczny ludziom 1

do oddychania / do zycia
(both "tlen" and "oddychanie / oddycha¢" must be
mentioned to gain the mark)
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Question Accept Mark Reject
14 a) Janek - bierze aktywny udzial w sportach, jest 1 copied from text / w
wysportowany / aktywny ruchu
b) Tomek - jest kibicem/ obserwatorem/ bierny/ 1 leniwy, unqualified
pasywny/ contains words like tylko/ woli by further statement
15a)i) | pamigtnik 1
i) | list 1
b) wypadek / katastrofa 1 description of
accident
16 C 1
17 a) poznaje si¢ duzo osob/ 2

wymienia si¢ fotografie /
nawiazuje si¢ ciekawe i pomocne kontakty /
nawiazuje si¢ serdeczne przyjaznie/
przyjemne rozmowy/
opowiadamy $mieszne sytuacje
(any 2)

b) na nieodpowiednie pytania, zachowanie 2 pedofil/ behaviour
niektorych osob/ described twice
mozna straci¢ duzo czasu/

zeby nie zastapi¢ prawdziwych kolegéw i réoznych
zaje¢ z nimi

siedzeniem przy komputerze

sa niegrzeczni / niedobrzy ludzie

(any 2)
18 a) byta szczupta, chuda, a uwazala, ze jest gruba 1 just gruba
b) zaczela sig¢ odchudzaé, nie jesé, byta
zdenerwowana, glodna, Zle spata, Zle si¢ uczyta / 1
mozliwo$¢ choroby, Smierci
(any 2)
c) dobrze si¢ odzywia¢, mie¢ duzo ruchu 1 grozi jej choroba,
Smier¢
d) ona wie, ze mogto si¢ zle skonczy¢ / szanuje 1 odzywiac sie/
zdrowie / jest zadowolona ze swego wygladu / uprawiac sport/
dbac¢ o siebie / glodowanie nie jest odpowiednia odchudzanie/
forma odchudzania/ martwic si¢ o
nie trzeba by¢ chuda aby by¢ tadna zdrowie/ nie shuchaé

(any 1) si¢ kolezanek)
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Question Accept Mark Reject
19 a) she felt she couldn’t communicate with them/ 2
she felt she was misunderstood/
she felt she was treated like a child/
she felt they were unfair
(any 2)
b) she feels much closer to her mother/ 1
she realises how much she needs / loves her
(any 1)
c) her mother became very ill and is in hospital 1
d) she hadn’t told her mother earlier that she loved 1
her
20 a) their hobbies are arts and crafts / arts 1 art (alone) or list of
they use their hands activities
they all make something
(any 1)
b) they have all had help from other people/ 1

they were taught/ they learnt / practiced

Total Marks = 65






